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1. Identify the direction that impulses travel thro§
neuron.

» A neuron consists of three main regions: the dendrites, a cell body, and an axon.

» Dendrites receive signals called impulses from other neurons and conduct the impulses to the cell body.

neuron contains several dendrites. The RUGIEUS of the neuron and M@y o thecellorganeliesia
GEINBGHY. L astly, an‘axon carries|the nerve impulse from the cell’body:to other

V Dendrite

Cell body

Figure 1 There are three main
parts of a neuron: the den-
drites, a cell body, and an axon.
Neurons are highly spedialized
cells that are organized to form
complex networks. ;

Dendrites === Cell body mmm) Axon mmm) Axon endings mmm) synapse mmm) Next neuron

Nucleus



1. What is the correct sequence of nerve impulse transport?

2 Cell body to Axon (€ Dendrites to Axon ending \

CORRECT
/

* Axon ending to * Axon ending to Axon '
dendrites |




2. Which part of the neuron receives impulse?

* Axon

(8 Dendrite

CORRECT



3. Which part of the neuron transmit nerve impulse?

(A Axon endings ML Axon

CORRECT

* Cell body * Dendrite



4. Which part of neuron transmit nerve impulse
across length of neuron?

M Dendrite € Axon endings

® Axon 2 Cell body

CORRECT



Which of the following letters represents the

axon in the below picture?

Tolial §iguall A ) gaal) Siag AN cipall G (g

Learning Outcomes Covered

o BI0.2.1.01.086

a.| A
b| B
e ©

o
w)




What would be the hypothetical result if a person Sl paddll o8 13) Agdalaly) damill O pSia lila
lacks the motor neurons? TauSall dussadl LMAS )

Learning Outcomes Covered

o BI0.2.1.01.086

,.| Would be unable to breath o) e 1ol 5gS

Would be unable to feel a deep cut Grandl mall aleay) e 1508 068 ]

Would be unable to feel a hot plate Gadall Bjha Jaleaatl de 1pali 2




2. Differentiate between the central nervous system (CN
peripheral nervous system (PNS) in terms of associated st

Figure 10 Top: A photograph of @ human brain shows distinct

sections. Bottom: The major sections of the beain are the
cerebrum, the cerebelium, and the brain stem.

Describe e position of the cerebrum in redation © the cerabedium.



Quiz

/. ldentify the part E in the diagram?

2 Cerebellum © Pons

CORRECT

* Medulla Oblongata * Cerebrum




8. Identify the part D in the picture?

4 Hypothalamus $€Medulla Oblongata

. Cel‘ebellum * Cerebrum
CORRECT



9. Which part of Brain control temperature and
maintain homeostasis?

& Hypothalamus 2 Medulla Oblongata

CORRECT

* Cerebrum * Cerebellum



10. Which part of the maintain balance and
coordination?

M Hypothalamus $€Medulla Oblongata

. Cel‘ebellum * Cerebrum
CORRECT



11. Which part of the brain controls thinking, speec

memory?
M Hypothalamus $€Medulla Oblongata
® Cerebrum 2 Cerebellum

CORRECT



In the below picture, which letter of the following refers to (oAl ouSal ) sy A Laa cija gi calial §) guall o
the structure that helps to control the rate of breathing? § oudidll Jana o ddidlaal) ,ﬁ b

Learning Outcomes Covered

o BlO.3.1.01.086

a.
'-----1 "™




Which letter of the following refers to the spinal cord? CSadl Jaadl A sy A Laa s ‘53

Learning Outcomes Covered

o BIO.3.1.01.086

al A
6| &
C.D

o8]




What is the cause of loss of balance and decreased Sl Oy Gaeaiill Haladlly O sl OlaRd G L

78 Ll Slapen Glaal! addll

coordination of muscles for a person with brain cancer?

Learning Outcomes Covered

o BIO.3.1.01.086
% Because lhe cancer has damaged hypothalamus dlgall ciad A )y Siaay ol oY
p,| Because the cancer has damaged pons Sylalall 3 ) e Siday Sldayudl oY

Because the cancer has damaged cerebellum

Because the cancer has damaged pons and hypothalamus  algal) caaty 33kl PLRPI QUL O ) oy




\
3. Identify the different sensory structures and theiR

corresponding sensory receptors and stimuli

Hearing

Vibrations called sound waves cause particles in the air to vibrate.

Sound waves enter the auditory, or ear, canal and cause a membrane, called the EafFUMNOr tympanum, at the end
vibrate. These vibrations travel through three bones in the middle ear:

StapesSNEHPINAs the stapes vibrates, it causes the oval window, a membrane that separates the middle ear from the in

back and forth. In the inner ear, a SRaIFShaped structurercalled thercochlgalis filled with fluid and lined with tiny hair ce
cause the FlicNRSIEthEcoEhIEalto move like a wave against the hair cells. The hairs cells respond by generating nerve im

auditory nerve and transmitting them to the brain
Balance

ISEmicirculareanalsitransmit information about POAYApoSition andibalance to the brain. The three canals are positi

one another, and they are fluid-filled and lined with hair cells. When the position of your head changes, fluid wit

moves. This causes the hair cells to bend, which in turn sends nerve impulses to the brain.



Quiz

15. Which of the following in not part of the middle
ear?

(© Ear canal

CORRECT

* Stapes




Quiz

16. Snail shaped structure inside inner ear is called

(A Cochlea

2 Semicircular canals

CORRECT

* Ear drum

* Oval window



Quiz

17. Which part of the ear transmit signals for
hearing to the brain?

& semicircular canals &€ Oval window

® Cochlea 2 Malleus

CORRECT



Which part of the ear transmit information about body aad) a2y g Slagdea Joi N o o3 I,,‘i'i
position and balance to the brain? ‘-‘i‘-‘m el O lgadlg

Learning Outcomes Covered

o BlO.3.1.01.086

Semi-circular canals Ay Cacadll el yiall
p. Cochlea A g2l
Middle ear gl )
Oval window dsglima | 3341




4. Identify the nephron as the functional unit of t
kidney, to include its anatomy and function in wa

Nephron filtration

Each kidney contains approximately one million filtering units called nephrons. Blood
enters each nephron through a long tube that is surrounded by a ball of capillaries
called the glomerulus (gluh MER uh lus) (plural, glomeruli). The glomerulus is sur-
rounded by a structure called the Bowman’s capsule.

The renal artery transports nutrients and wastes to the kidney and branches into
smaller and smaller blood vessels, eventually reaching the tiny capillaries in the glomer-
ulus. The walls of the capillaries are very thin, and the blood is under great pressure. As
a result, water and substances dissolved in the water, such as the nitrogenous waste
product called urea, are pushed through the capillary walls into the Bowman's capsule.
Larger molecules, such as red blood cells and proteins, remain in the bloodstream.

e



Quiz

19. The filtration unit found in the kidney is called?

2 Renal cortex © Nephrons

CORRECT

* Neurons * Ureter



Quiz

20. What is the function of long tube surrounded
by a capsule in nephron?

2 Reabsorption (© Filtration

CORRECT

* Adsorption

* Osmosis



Quiz

21. Which of the following is not filtered by tiny
capillaries called glomerulus?

(A Proteins and RBC 2 Glucose

CORRECT

* Salt * Water




Quiz

22. The nitrogenous water filtered by the kidney is
called ?

CORRECT



23. Blood filtration happens in which location of
nephron?

2 Renal tubules © Glomerulus
CORRECT

* Loop of Henle * Blood capillaries




24. Excess water, salt and urea are passed from capillarie
tubules this led to :

(A Formation of Urine 2L Reabsorption
CORRECT




What are the functional units in the kidneys? LA o Aol gll Cilasgll La

Learning Outcomes Covered

o BlIO.3.1.01.055

Alveoli idlegd) Cllasgall

Renal pelvis AalSl) aga

Diaphragms Saladl claall




The mineral is placed back into the bloodstream by Gb oo aall (G uﬁ AT B alaall Bale) Al
the kidneys through a process called.......... ererrre it dilas A e gl

Learning Qutcomes Covered

o BIO.3.1.01.053
o BI0.3.1.01.055
& BIO.3.1.01.086

5. | Filtration el
b Excretion UENY
. Coupled transporl zoyall Jaill

Reabsorphion _paliaia) salel




How do the kidneys help maintain normal blood (pH)? f(PH) asll ,_,a.u!:.ﬂ g ugd) Al e Jalaal) ua JPRLA| T O

Learning Outcomes Covered

o BlO.3.1.01.053

] By absorbing white blood cells sbandl 2l WA (aliaial @apha 0o
b. By absorbing red blood cells ehpaall 220l LIS jaliaisl (3iyla S
. By excreting dopamine into renal tubules a5l AP & omabipall bl @b e
d By excreling hydrogen into renal tubules dlsl L) P g pugl caligl ) Birb e




5. Identify the anatomy of the ear and functi

Ear canal

R |
Quter ear Midde e nner ear
Figure 15 Sound waves cause the tympanum to vibrate, and the vibeations traved theough the bones of the
middie ear 1o the cochiea. Hair cells in the cochlea generate nerve impulses, which are sent to the brain
through the audBody nerve.



28. Which of the following number represents stapés
in the picture?

e ©3

CORRECT

e 2 i 4



29. Which of the following number represents ear drum in the
picture?

w 4 L 3

CORRECT

K2 2L 1



30. Which of the following number represents semi circular
canals in the picture?

e 2es

9:? 4

CORRECT



Which of the following numbers represent Tolial 5 guall B And gl Jiay 4000 255N G g
the cochlea in the below picture?

Learning Outcomes Covered -

o B8103.1.01.086




6. Identify the anatomy of the eye and func

Figure %4 Light travess through the cormea

and the pupd 10 the lens, which focuses the
image on the retina. Rods and cones in the

retina send information to the brain through
the oplic nerve.




32. Which of the following letter represents Retina in
the picture?

P A ©0o

CORRECT

LB >~ ¢



33. Which of the following letter represents Iris in the picture?

A s

CORRECT

I C o



34. Which of the following letter represents Cornea in the
picture?

P A

B

® C b )

CORRECT



Which part of the eye provide information about

el B Sl o clagian Jeyy oall el gl

color to the brain?

Learning Outcomes Covered

o BIO.3.1.01.086

5 | Iris o
b Rods o
c Pupil t) 1o
Jew T S




/. Differentiate between the types of sensory recep
skin (temperature, pressure, pain)

Fgure 16 Many types of receptors are found in the
skin. A person can 12l If an object is hot or cold,
sharp or smooth




36. Which of the following letter represents receptor
that detect light touch in the picture?

P A ©c

CORRECT

LB Mo




37. Which of the following letter represents
receptor that detect heat in the picture?

@ A L C

CORRECT

b 3 o




38. Which of the following letter represents
receptor that detect cold in the picture?

P A 9 B

> J¢ © D

CORRECT




8. Explain the main structure and function of the
system

Parts of the Excretory System

As you breathe, eat, walk, study, and sleep, your

body collects wastes. These wastes include toxins,

waste products, and carbon dioxide, that result

from metabolic functions that occur in your body

constantly and without you thinking about it.

What happens to all of these wastes? The excre-
tory system removes them from the body. In
addmon,theemelorvsvslemmguhwsme
amount of fluid and salts in the body, and it
maintains the pH of the blood. All of these
functions help to maintain homeostasis.

The components that make up the excretory
system include the lungs, skin, and kidneys, as
illustrated in Figure 17. The lungs primarily
excrete carbon dioxide. The skin primarily
excretes water and salts contained in sweat. The
kidneys, however, are the major excretory organs
in the body. The kidneys filter wastes and other
subs!ances from the blood. The ureters carry
urine produced in the Kidneys to the bladder.
Urine exits the body through the urethra.



Quiz

39. Organ which help remove carbon dioxide from
body is

2K Liver

© Lungs

CORRECT

* Kidney * skin



40. Organ which removes water and sweat from the body

(A Skin M Liver

CORRECT

* Kidney




41. Organ which removes toxic waste from the body is ?

(A Kidney ML Liver

CORRECT

* Skin * Lungs



42. Which of the following is not the function of excretory s

M Regulate body fluid 24 Maintain salt balance

2% Maintain pH level (D Regulate calcium level
CORRECT



9. Identify the anatomy of the kidney..

L YT

Copyniiie © M Coaw

Fgure 18 Nephrons are the functional
units of the kKidneys.

Summarize the poth of wrine as it is
excreded om the body



43. ldentify the location where blood filtration
happens?

Figure 18 Nephrons are the functio
units of the kidneys.
Summarize the poth of wine s i is
excreled from the body.

2 Renal cortex © Glomerulus

CORRECT

* Renal tubules * Ureter




Quiz

Figure 18 Nephrons are the functic
units of the kidneys.
Summarize the poth of wine os & is
excreled from the body.

44, |dentify the location where blood is reabsorbed ?

M Renal cortex © Renal tubules

CORRECT




45. Identify the E in the picture?

(A Renal medulla M Renal cortex

CORRECT

* Renal pelvis * Ureter




46. ldentify the C in the picture?

Figure 18 Nephrons are the functio
units of the kidneys.

Summarize the poth of wine s i is
excreled from the body.

P Renal pelvis S Glomerulus

. COlleCting tubule * Loop of Henle
CORRECT




10. Compare and contrast, using visuals, th
different types of hormone actions: Steroi
hormones and amino acid hormones

Actions of Hormones

The endocrine system is composed of glands and functions as a communication system.
Endocrine glands produce hormones, which are released into the bloodstream and
distributed 1o body cells. A hormone is a substance that acts on certain target cells and
tissues to produce a specific response. Hormones are classified as steroid hormones and
nonsteroid or amino acid hormones, based on their structure and mechanism of action.

Steroid hormones

Estrogen and testosterone are two examples of steroid hormones. All steroid hormones
work by causing the target cells to initiate protein synthesis, as illustrated in Figure 13.




Quiz

47. Endocrine gland functions as

2 Transport system (¢ Communication system

CORRECT

* Filtration system * Cleaning system



48. are the substance which work on target
and cause a specific response?

& Hormone 2 Glucose

CORRECT

* Fats * Nucleic acid




Quiz

49. ldentify the correct pair of classes of hormones?

@ steroid and Glucose 2 Non-steroid and amino acid

hormone
® Steroid and non- 2 Non-steroid and
steroid Glucose

CORRECT



11. Identify the major glands of the endocrine system and th

Cells in the hypothalamus produce
ADH and oxytocin. These hormones

The anterior pituitary move down axons to axon endings
gland secretes its hormones and are secreted into the
into the bloodstream.

bloodstream when appropriate.



Quiz

D
50. Which of the following letter represents testes in d
the picture?

P A ©0o

CORRECT

LB >~ ¢



51. Which of the following letter represents
Hypothalamus in the picture?

@ A L C

CORRECT

b 3 o




52.Which of the following letter represents
Pituitary gland in the picture?

D b

® G K F

CORRECT




in the picture?

P A ©c

CORRECT

b 4 2L D




54. Which gland control the glucose level in the
blood?

2% Thyroid (© pancreas
CORRECT

* Adrenal gland * Pituitary gland




55. Which pair of gland control calcium level int
the blood?

(A) Thyroid and parathyroid S Ppituitary and thyroid -
CORRECT 4

e

928 Parathyroid and spleen M Adrenal and thyroj



Which of the following letters represents olial 3y guall gﬁ aadyull saadl Jias AEY il e gi
a thyroid giand in the below picture?

Learning Outcomes Covered

o BIO.3.1.01.062
o BIO.3.1.01.070




Which of the following letters represents a part responsible for o8 Jyducall o) Sia A Cial) Ga ,‘g‘
maintaining homeostasis by serving as a link between the Gl DA Ga AR ST e Blaal)

nervous system and the endocrine system? T saells iandl Cailgadl Om

Learning Outcomes Covered

o BIO.3.1.01.070
o BIO.3.1.01.086




12. Describe the three types of neurons (sensory, m
Interneurons) and their involvement in the reflex

Figure 2 A simple rafiex MvOVES 3 SEASOry NEWON,
an inteeneuron, and @ motor negran. Inteémauroas can
aisd Carry imouises 1o the beain.

Explain how o reflex might be compieted bafore the
broi infevprets the event

There are three kinds of neurons: sensory neurons, interneurons, and motor neurons.
Sensory neurons send impulses from receptors in the skin and sense organs to the
brain and spinal cord. Sensory neurons signal interneurons, which are found in the
spinal cord and brain. Interneurons carry the impulse to motor neurons, which carry
xmpulsesawav!mmthebramandspxmlmrdloaghndormusde which results in a
response. Refer to Figure 2 to follow the path of an impulse for a simple involuntary
reflex. The nerve impulse completes what is called a reflex arc. A reflex arc is a nerve
pathway that consists of a sensory neuron, an interneuron, and a motor neuron. Notice
that the brain is not involved. A reflex arc is a basic structure of the nervous system.




58. Name the neuron which transport signals from
sensory organ to brain?

2 Motor neuron (© Sensory neuron

CORRECT

9% interneuron 2 Mixed neuron



59. Name the neuron which transport signals from
brain to muscles?

2 Sensory neuron P Mixed neuron

*interneuron . Motor neuron
CORRECT




Learning Outcomes Covered

o BlO.3.1.01.086

Sensory neuron — interneuron — motor neuron

Motor neuron — sensory neuron — interneuron

Interneuron — motor neuron — sensory neuron

Motor neuron — interneuron — sensory neuron




13. Explain how a nerve impulse is transmitted th
neuron and through the synapse between the thre

nem o= = 1A owm newm o=

lmum

tential
Resting po i

Q?'Oﬁ#":ﬂ

e e v Dutside
Na] [Na'] K] cell

§
:
?
5
E

Figure 4 Follow as an action potential moves along an axon from keft 1o right. Notice what happeas 10 the
Na' and K™ and how 1his changes the relalive electiical charges inside and oulside the niwran




61.

In action potential

Figure 4 Follow as an

N aCtion potential moves along an axon from kefl 10 right. Notice what happens 1o the

Na' and K™ and how this changes the relalive electiical charges inside and oulsids the newran

channel opens?

© Naions

CORRECT

* Mg ions

\

Copript € MCrawitd Lduaton




Inside 2
coll =<

Figure 4 Follow as an action polential moves along an axon from keft 10 right. Notice what happens 1o the
Na' and K™ and how 1his changes the relalive electiical charges inside and oulsids the niwran

62. During action potential charge inside the axon is ¢

(A Positive with Na ions 2K Positive with K ions
CORRECT oy

* Negative with Na ions * Negative with K ions



14. Differentiate between the two types of s
receptors in the eye (rods and cones)

Sight

Figure 14 shows the path of light as it travels through the eve. Light first enters the eye
through a transparent, yet durable, laver of cells called the cornea. The cornea helps to
focus the light through an opening called the pupil. The size of the pupil is regulated by
muscles in the iris—the colored part of the eve. Behind the iris is the lens, which inverts
the image and projects it onto the retina. The image travels through the vitreous humor,
which is a colorless, gelatinlike ligquid between the lens and the retina. The retina
contains numerous receptor cells called rods and cones. Rods are light-sensitive cells
that are excited by low levels of light. Cones function in bright light and provide infor-
mation about color to the brain. These receptors send action potentials to the brain via
the neurons in the optic nerve. The brain then interprets the specific combination of
signals received from the retina and forms a visual image.




63. has numerous receptors for bright light and
dim (low level light)?

(€ Retina

CORRECT

2 Iris




64. Which cell receptors helps us to see in low level light?

(A Rod cells M Cone cells
CORRECT

* Cornea cells 2 Iris cells



Quiz

65. Which cell receptors helps us to see in bright light?

* Cornea cells * Rod cells

® Cone cells 2 Iris cells

CORRECT



Steroid hormones : EStfogen and [ESIOSIerong are two

examples of steroid hormones.

Steroid hormones are SOIUBIENANIPIASIand therefore GaRMGIfUSE!
throughithe pPlaSMaMEmBrane of a target cell. Once inside a target

cell, they DiIRANGYENECERIORin the cell. The hormone and the receptor

that are bound together bind to DNA in the nucleus, which activates

specific gene.

Estrogen and testosierone are two examples of steroid hormones. All steroid hormones
work by causing the target cells to initiate protein synthesis, as illustrated in Figure 13,

Steroid hormone ‘é

Figure 13 A steroid hormone passes through a cell membrane, binds to a receptor within the cell, and
stimulates protein synthesis.




66. What happens when amino acid hormone binds to receptor?

* Genes get activated

. receptor activates an enzyme f
inside of the membrane

CORRECT

The plasma membrane is * Cell gets destroyed
destroyed



Which of the following is a structural classification of hormones? Siligayell L€ lhiias i b Laa (g

Learning Outcomes Covered

o BI0.3.1.01.062
o BI0.3.1.01.070

o Proteins and other nucleic acids gy palesl galy clisg
b ' Steroid and amino acid L galaal gals g i E
. Nucleic acids and amino acids did Laleal gals di550 alanl
d Steroid and other carbohydrales Aoljags S dlge (gials g piie




What happens after the steroid hormone and its ATBluay (g piad! O gasgd) Ly b Siday 1ila
receplor bind to the DNA7? TDNA (Sg il aaaadl

Learning Outcomes Covered

o BlIO.3.1.01.070
o BlO.2.1.01.086

The cell is destroyed. Adall jeex

The plasma membrane is destroyed. oslddl eliiadl e o

Genes are activated. clisad) dasih

"-.--‘

The nucleus prevents gene activation. Sliuadl Jasii aiad el




\

16. Identify the anatomy of the ear and fung@

Hearing

Vibrations called sound waves cause particles in the air to vibrate.

Sound waves enter the auditory, or ear, canal and cause a membrane, called the EafdfUMIORtyMpanum, at the end of the
canal to vibrate. These vibrations travel through three bones in the middle ear:
@RVl ancthe stapes (Stiffip) As the stapes vibrates, it causes the oval window, a membrane that separates the middle ear

from the inner ear, to move back and forth. In the inner ear, a ShailFShaped structure called the'cochlealis filled with fluid and

lined with tiny hair cells. Vibrations cause the flliciinSIdEthENeochIEa o move like a wave against the hair cells. The hairs

cells respond by generating nerve impulses in the auditory nerve and transmitting them to the brain

Balance

angles to one another, and they are fluid-filled and lined with hair cells. When the position of your head changes, flui

the semicircular canals moves. This causes the hair cells to bend, which in turn sends nerve impulsesto the brain.



69. The membrane which separates middle ear from inner ear
called

(© Oval window
CORRECT

* Incus




/1. The hairs which bends to cause impulse for hearing are
found in ?

(A Cochlea M semicircular canal
CORRECT

* Ear drum 24 Oval window



Quiz

/2. The fluid which move when you change the position of
your head is found in

M Cochlea 2 Stapes

B8 Semicircular canal 2% Ear drum
CORRECT



Quiz

/3. Which bone found in ear vibrates oval window?

ML Femur 2 Malleus

B Stapes 2 Incus

CORRECT




Which part of the ear transmit information about body aad) a2y g Slagdea Joi N o o3 I,,‘i'i
position and balance to the brain? ‘-‘i‘-‘m el O lgadlg

Learning Outcomes Covered

o BlO.3.1.01.086

Semi-circular canals Ay Cacadll el yiall
p. Cochlea A g2l
Middle ear gl )
Oval window dsglima | 3341




17 . Differentiate between the central nervous system (CNS)
peripheral nervous system (PNS) in terms of associated struct
functions

Somatic nervous system relay information from external sensory receptors to the centr.
nervous system.

Somatic motor nerves really information from central nervous system two skeletal muscl

This is voluntary action.

Autonomic nervous system carries impulse from central nervous system to the heart an
other organs.

The body responds involuntarily, not under conscious control.

Autonomic nervous system has 2 divisions

Sympathetic nervous system which controls organs in times of stress.

Parasympathetic nervous system which controls organs when the body is at rest.




Quiz

75. Which part of nervous system controls body organs
in stress?

2 Autonomic nervous

(¢ Sympathetic Nervou

system system
CORRECT
* Parasympathetic Nervous * Somatic nervous system

system



Quiz

76. Which part of nervous system relay information from central
nervous system to heart and other organs?

2 Parasympathetic Ne

* Somatic nervous
system

system

* Autonomic nervous

(8 Autonomic nervous
system

system

CORRECT



/7. Which part of nervous system controls body when
your body is at rest?

2 Autonomic nervous P sympathetic Nervous
system system

*Somatic nervous . Parasympathetic Nerv
system system

CORRECT



88. Which part of nervous system relay information from ce
nervous system to muscles?

& Autonomic motor nerves S Autonomic sensory

(8 Somatic motor nerves * Somatic sensory nerve

CORRECT



18. Identify the anatomy of the kidney.

Copyrie © M Coaw il Fdauton

Figure 18 Nephrons are the functional
units of the kidneys

Summarize 1h poth of wrine as It s
excreded from the body



Figure 18 Nephrons are the functio
units of the kidneys.
Summarize the poth of wine s i is
excreled from the body.

79. ldentify ‘D’ in the picture?

2 Renal cortex (© Bowmen’s capsule

CORRECT

* Renal tubules * Renal artery




80. Identify ‘F’ in the picture?

Figure 18 Nephrons are the functio
units of the kidneys.
Summarize the poth of wine as # is
excreled from the body.

* Renal medulla . Renal cortex

CORRECT




81. ldentify the E in the picture?

(A Renal medulla M Renal cortex

CORRECT

* Renal pelvis * Ureter




82. Identify the C in the picture?

Figure 18 Nephrons are the functio
units of the kidneys.
Summarize the poth of wine s i is
excreled from the body.

* Renal pelvis *Glomerulus

® Collecting tubule 2 Loop of Henle
CORRECT




The mineral is placed back into the bloodstream by Gub o aall (e r_,ﬁ Al B Halaall Gale] Al
the kidneys through a process called.......... PR von B U PT=R ' EQEP R A LA |

Learning Outcomes Covered

o BIO.3.1.01.053
o BI0.3.1.01.055
e BID.3.1.01.086

5| Filtration el
b Excrelion UL
. Coupled transporl zojall Jaill




19. Explain how negative feedback is
Important in maintaining homeostasis

Figure 18 Parathyroid
hormone (PTH) and
calcitonin (CT) requiate
the level of calcum in the
biood

Explain how PTH and CT
flystrate negative

feadbock.




Quiz ﬁ

85. Which gland release Parathyroid hormone when
calcium level is low in blood.

M Thyroid gland (© Parathyroid gland
CORRECT \(

y

* Pituitary gland * Adrenal gland



Quiz ﬁ

86. When calcium level is low, the hormone helps
calcium to move from

S Blood to bone © Bone to blood
CORRECT

* Blood to muscle * Muscle to bone >



Quiz ﬁ

87. When calcium level is high, the hormone helps
calcium to move from

(A Blood to bone 2 Bone to blood

CORRECT

* Blood to muscle * Muscle to bone



Quiz ﬁ

88. Which gland release Calcitonin hormone when
calcium level is high in blood.

* Adrenal gland

*Parathyroid gland

® Thyroid gland 2% pituitary gland
CORRECT



\
20. Identify the major glands of the endocrine sy§

their related hormones

» Pancreas

pancreas secrete hormones insulin and Glucagon; they work together to maintain homeostasis

When blood glucose levels are high pancreas release insulin,

Insulin helps in conversion of glucose to glycogen which is stored in liver.

When blood glucose levels are low Glucagon is released,

Glucagon binds to liver cell and give signals to convert glycogen to glucose which is released i

Type 1 Diabetes is a disease when not enough insulin is not produced and the body

type 2 diabetes he's caused when the body become insensitive to insulin.



89. The hormone which decrease level of glucose the in blo

2 Cortisol © Insulin

CORRECT

* Aldosterone * Glucagon



Quiz

90. Glucose is stored in live by conversion of with h
hormone insulin?

(A Glucose to glycogen 2 Glycogen to glucose
CORRECT

* Glucose to protein * Glycogen to protein



91. The hormone which increases level of glucose the in blo

* Insulin

B Glucagon 2L Cortisol

CORRECT



92. Disease in which insulin is insensitive to glucose is call

2 Diabetes type 1 (© Diabetes type 2
CORRECT

* Diabetes type 3 * Diabetes type 4
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\
20. Identify the major glands of the endocrine sy§

their related hormones

» Adrenal gland

Adrenal glands are located above the kidney outer part of kidney is called cortex.
Cortex manufacture steroid hormone called aldosterone and a group of hormones called glucocorticoids
Aldosterone affects the kidney and is important for reabsorbing sodium.

Cortisol raises blood glucose level and reduce inflammation.

In a stressful situation the inner portion of adrenal glands secrete epinephrin and nor/epinephrine

Together these hormones increase heart rate blood pressure Bfeathingrateland

important in increasing the activity of blood cell.



94. Hormone released by outer region of adrenal gland is ?

2% epinephrin (© Aldosterone
CORRECT

* Norepinephrine * insulin



Quiz

95. Hormone which raises blood glucose level and
reduce inflammation is called

(A Cortisol
CORRECT

* Aldosterone

* Norepinephrine

* Epinephrine



96. Hormones which work together and controls blood press
sugar levels etc.

M Epinephrine and 24 Aldosterone and
cortisol norepinephrine

8 Epinephrine and 2 Aldosterone and \

norepinephrine cortisol /

CORRECT



Quiz

97. Which of the following letter represents Thyroid
in the picture?

ML A ©c

CORRECT

b 4 2L D




